
SENSE NEW

W76A-150-070W-A 
W76A-170-070W-A ENG • RUS

WMA-W76A-150-070W-A1



2

! 

, ! 

.

. 

, 

+/ .

+
( -

).

. 

. 

, 
, 

, 
.

. 

, 
. 

•  ( )  

• ( ) 

•  ( )

• 

• ( )



3

33
452

577

457

297

605

45
3

27
7

39
7

39
9

26

42
5

1316

957

792

282

125°

33
3

1501
70
3

48 54

52

1391

40

33
4

614

52

575

457

296

1591 54

38
8

26
4

45
2

33
3

40

1517

1158

990

278

40
1

37
6

42
6

26

125°

70
4

1701

49

52



4

Sense New 
W76A-150-070W-A 
W76A-170-070W-A 

 RUS

W76A-150-070W-A 
W76A-150-070W-P 
W76A-150-070W-R

W76A-170-070W-A 
W76A-170-070W-P 
W76A-170-070W-R



5

700

300

500

350

400

1700

700

300

500

350

400

1500

– Вывод канализации

4
1

7

4
4

0

4
1

7
2

0

1700
160659

199

ø52

35

5
9

0
5

5

250

5
9

0

7
0

0

3
4

0

1209
1103

4
1

7

4
4

0

4
1

7
2

0

1500
140659

199

35

5
9

0
5

5

250

5
9

0

7
0

0

3
4

0

1009
903

ø52

1694

5
3

9

1500

5
4

0

5
9

0
5

9
0



6

1

9
8

5

3
4

14

12

11

6

2

13

7

10

16

1517

01 bath ×1

02 front panel ×1

03 bracket for shelf ×2

04 ×2

05 ×2

06 decorative cap ×2

07 bracket ×2

08 washer ×8

09 nut M12 ×4

10 metal frame ×1

11 nut M12 ×12

12 leg ×4

13

14 stud M12 ×4

15

16

17 DIN571 screw 

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R



7

9

3

8

6

10

4 52

7

161413

11

1512

17

01 bath ×1

02 front panel ×1

03 bracket for shelf ×3

04 ×3

05 ×2

06 decorative cap ×2

07 bracket ×2

08 washer ×8

09 nut M12 ×4

10 metal frame ×1

11 nut M12 ×12

12 leg

13

14 stud M12 ×4

15

16 ×8

17 DIN571 screw ×8

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R



8

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R



9

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R



10

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R



11

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R



1
0

-1
9

 m
m

Версия для установки на каркасах: W76A-150-070W-R, W76A-170-070W-R

12



Версия для установки на каркасах: W01A-150-070W-R, W01A-170-070W-R

13



Версия для установки на каркасах: W01A-150-070W-R, W01A-170-070W-R

14



Версия для установки на каркасах: W01A-150-070W-R, W01A-170-070W-R

15



Версия для установки на каркасе:  
W01A-170-070W-R

Версия для установки на каркасе: 
W01A-150-070W-R

14

16



Версия для установки на каркасе:  W01A-150-070W-R, W01A-170-070W-R

А
А(1 : 2)

17



Версия для установки на каркасе:  W01A-150-070W-R, W01A-170-070W-R

В

В (1 : 5)

18



Версия для установки на каркасе:  W01A-150-070W-R, W01A-170-070W-R

D

19



AM.PM Europe GmbH  
Torstrasse 177 D-10115 Berlin
www.ampm-world.com 11/2019

700

300

500

350

400

1500




